Subject: Re: DHS ZIMBABWE 2015
Posted by p.pajak on Fri, 07 Jan 2022 18:08:06 GMT

View Forum Message <> Reply to Message

Good Evening,

Thank you for providing me with the R code. My weights have already been divided by 1000 000
as | am using IPUMS DHS data and | have done the subset by the region of interest in fin_df. |
think the issue is that r considers this survey design with replacement if | give the command as
written above and therefore by putting DEFF=TRUE doesn't work. It only works if | write
DEFF=replace.

Could you please let me know if this is correct.

Many thanks!
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